Antwoorden damexamen DE TWEEDE ZET

Maximum aantal punten: 32 | Geslaagd: minimaal 17 punten

Opdracht 1 (6 punten)
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Opdracht 2 (2 punten)

1: A. Wit wint

2: B. Zwart wint

Opdracht 3 (2 punten)

3: C. Gelijk
4: A. Wit

Opdracht 4 (2 punten)
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Opdracht 5 (8 punten)
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Diagram 7

C. Meerslagzetje

Diagram 8

B. Prikker
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Diagram 10

C. Slagkeus
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B. Achterloper
Opdracht 6 (2 punten)
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Opdracht 7 (2 punten)
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Opdracht 8 (2 punten)
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Diagram 15

Opdracht 9 (2 punten)
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Opdracht 10 (4 punten)
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Diagram 2

Diagram 22




